Copy problems into your notebook and circle every answer for easy checking. NO CALCULATOR	
-8 + 6 =	7 – (-7) =
-3.5 - 6.8 =	
-8.3 – (-2.75) =	-7 + 4 =
$7\frac{1}{3} + (-10\frac{2}{3}) =$	33.8 - (-58.4) =
-1 + (-3) =	25 + (-49) =
$1\frac{4}{7} - (-6\frac{2}{7}) =$	$51\frac{1}{4} - 55\frac{3}{4} =$
-6.9 + (-1.4) =	$\begin{array}{c} 51 - 55 - = \\ 4 & 4 \end{array}$
3.9 + (-6.5) =	49 + (-69) =
$2\frac{2}{6} + (-2\frac{2}{6}) =$	0 - (-92) =
	0 - (-92) -
$-5\frac{1}{4}-(-8\frac{1}{4})=$	-15.6 + 73.9 =
2.4 – (-1.8) =	
-1 - 8 =	-60 – (-58) =
-10 + 10 =	50 -76 =

-10 + 10 = 50 -76 = 4½ -9 =